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The cost of goods manufactured schedule shows each of the cost elements. Complete the following schedule for Lanier Manufacturing Company: 

LANIER MANUFACTURING COMPANY

Cost of Goods Manufactured Schedule

For the Year Ended December 31, 2010

Work in process (1/1)……………………………………………….$200,000

Direct materials


Raw materials inventory (1/1)………$?


Add: raw material purchases………158,000


Less: raw material purchases………… 6,500
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quired:
Prepare journal entries to record the information given above.
Prepare T-accounts for Manufacturing Overhead and Work in Process. Post the relevant i
mation above to each account. Compute the ending balance in each account, assuming
‘Work in Process has a beginning balance of $35,000.

ERCISE 3-3 Applying Overhead with Various Bases
imated cost and operating data for three companies for the upcoming year are given below

Company

B C
30,000 40,000
90,000 18,000

$160,000 $240,000
432,000 270,000 384,000

Direct labour-hours . .
Machine-hours
Raw materials cost
Manufacturing overhead cost. . . .
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Direct material used……………………………………………      $190,000

Direct labor…………………………………………………………………………?

Manufacturing overhead


Indirect labor ……………………….$18,000 


Factory depreciation……………….36,000


Factory utilities ……………………….68,000


Total overhead …………………………………………..   122,000
Total manufacturing costs………………………………………………   ?
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Manufacturing cost data for Natasha Company are presented below.

Case A Case B Case C

Direct materials used (a) $68,400 $130,600
Direct labor $ 57,400 86,500 (2)

Manufacturing overhead 46,500 81,600 102,000
Total manufacturing costs 175,650 (d) 273,700
Work in process 1/1/11 (b) 15,600 (h)

Total cost of work in process 221,500 (e) 335,000
Work in process 12/31/11 (c) 11,000 90,000

Cost of goods manufactured 180,725 () (i)




Total cost work in process………………………………………………..$ ?

Less: work in process (12/31)………………………………………87,000

Cost of goods manufactured…………………………………     $560,000
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Hawkinson Company is manufacturer of toys. Its controller, Al Duryea, resigned on August 2010. An inexperience assistant accountant has prepared the following income statement for the month of August 2010. 

HAWKINSOM COMAPANY

Income Statement

For the Month Ended August31, 2010

	Sales (net)
	
	
	$670,000

	Less: Operating expenses
	
	
	

	
	Raw materials purchased
	$200,000
	
	

	
	Direct labor cost
	$150,000
	
	

	
	Advertising expense
	$80,000
	
	

	
	Selling and administrating salaries 
	$70,000
	
	

	
	Rent on factory facilities 
	$60,000
	
	

	
	Depreciation on sales  equipment
	$55,000
	
	

	
	Depreciation on factory  equipment
	$40,000
	
	

	
	Indirect labor cost
	$20,000
	
	

	
	Factory utilities
	$10,000
	
	

	
	Factory insurance 
	$5,000
	
	$690,000

	Net loss
	
	
	$(20,000)

	
	
	
	
	


Prior to August 2010 the company has been profitable every month. The company’s president is concerned about the accuracy of the income statement above. As a friend of the president, you have been asked to review the income statement and make necessary corrections. After examining other manufacturing cost data, you have required additional information as follows: 

1. Inventory balance at the beginning and end of August were: 

August 1 

August 31



Raw materials ………..$18,000

         $33,000



Work in process………… 25,000

   21,000



Finished goods …………..40,000

   62,000

2. Only 70% of the utilities expense and 80% of the insurance expense apply to factory operations; the remaining amounts should be charged to selling and administrative activities. 

Instructions: 

(a) Prepare a cost of goods manufactured schedule for August 2010.

(b) Prepare a correct income statement for August 2010. 
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Manufacturing cost data for Natasha Company are presented below.

Instructions

Indicate the missing amount for each letter (a) through (i).
Homework for Chapter 03 

P3-1: Foley Company uses a job-order costing system. The following data relate to the month of October, the first month of the company’s fiscal year:

a. Raw materials purchased on account, $210,000.

b. Raw materials issued to production, $190,000 (80% direct and 20% indirect).

c. Direct labor cost incurred, $49,000, and indirect labor cost incurred, $21,000.

d. Depreciation recorded on factory equipment, $105,000.

e. Other manufacturing overhead costs incurred during October, $130,000 (credit Accounts Payable).

f. The company applies manufacturing overhead cost to production on the basis of $4 per machine-hour. There were 75,000 machine-hours recorded for October.

g. Production orders costing $510,000 according to their job cost sheets were completed during October and transferred to Finished Goods.

h. Production orders that had cost $450,000 to complete according to their job cost sheets were shipped to customers during the month. These goods were sold at 50% above cost. The goods were sold on account
Required:

1. Prepare journal entries to record the information given above.

2. Prepare T-accounts for Manufacturing Overhead and Work in Process. Post the relevant information above to each account. Compute the ending balance in each account, assuming that Work in Process has a beginning balance of $35,000.
P3-2: 
Estimated cost and operating data for three companies for the upcoming year are given below:

Predetermined overhead rates are computed using the following bases in the three companies:
Overhead Rate

Company                                                                      Based on—

A . . . . . . . . . . . . . . . . …………………………Direct labor-hours

B . . . . . . . . . . . . . . . . ………………………….Machine-hours

C . . . . . . . . . . . . . . . . …………………………Raw materials cost
Required:

1. Compute the predetermined overhead rate to be used in each company.

2. Assume that Company A works on three jobs during the upcoming year. Direct labor-hours

recorded by job are: job 308, 7,000 hours; job 309, 30,000 hours; and job 310, 21,000 hours.

How much overhead cost will the company apply to Work in Process for the year? If actual costs are $420,000 for the year, will overhead be underapplied or overapplied? By how much?

P3-3 

Ravsten Company is a manufacturing firm that uses a job-order cost system. On January 1, the beginning of the current year, the company’s inventory balances were as follows:

Raw materials . . . . . . . . . . . . . . . . $16,000

Work in process . . . . . . . . . . . . . . 10,000

Finished goods . . . . . . . . . . . . . . . 30,000

The company applies overhead cost to jobs on the basis of machine-hours. For the current

year, the company estimated that it would work 36,000 machine-hours and incur $153,000 in manufacturing overhead cost. The following transactions were recorded for the year:

a. Raw materials purchased on account, $200,000.

b. Raw materials requisitioned for use in production, $190,000 (80% direct and 20% indirect).

c. The following costs were incurred for employee services:

Direct labor . . . . . . . . . . . . . . . . . $160,000

Indirect labor . . . . . . . . . . . . . . . . 27,000

Sales commissions . . . . . . . . . . . 36,000

Administrative salaries . . . . . . . . 80,000

d. Heat, power, and water costs incurred in the factory, $42,000.

e. Prepaid insurance expired during the year, $10,000 (90% relates to factory operations, and

10% relates to selling and administrative activities).

f. Advertising costs incurred $50,000.

g. Depreciation recorded for the year, $60,000 (85% relates to factory operations and 15%

relates to selling and administrative activities).

h. Manufacturing overhead cost was applied to production. The company recorded 40,000

machine-hours for the year.

i. Goods that cost $480,000 to manufacture according to their job cost sheets were transferred to the finished goods warehouse.

j. Sales for the year totaled $700,000 and were all on account. The total cost to manufacture

these goods according to their job cost sheets was $475,000.

Required:

1. Prepare journal entries to record the transactions given above.

2. Prepare T-accounts for inventories, Manufacturing Overhead, and Cost of Goods Sold. Post relevant data from your journal entries to these T-accounts (don’t forget to enter the opening balances in your inventory accounts). Compute an ending balance in each account.

3. Is Manufacturing Overhead underapplied or overapplied for the year? Prepare a journal entry to close any balance in the Manufacturing Overhead account to Cost of Goods Sold.

4. Prepare an income statement for the year. (Do not prepare a schedule of cost of goods manufactured; all of the information needed for the income statement is available in the journal entries and T-accounts you have prepared.)


PROBLEM 4-7

Equivalent Units; Costing Inventories; Journal Entries; Cost of Goods Sold—Weighted-Average Method

(LO1, LO2, LO3, LO4)

CHECK FIGURES

(1) Labor: $2.20 per equivalent unit

(2)December 31 WIP: $528,000

(4) COGS: $3,465,000

You are employed by Tuff Soles Corporation, a manufacturer of boots. The company’s chief financial officer is trying to verify the accuracy of the ending work in process and finished goods inventories prior to closing the books for the year. You have been asked to assist in this verification. The year-end balances shown on Tuff Soles Corporation’s books are as follows:

	
	
	Units
	Costs

	
	Work in process, December 31 (labor and overhead 40% complete)

	200,000
	$590,500

	
	Finished goods, December 31

	100,000
	$450,000



Materials are added to production at the beginning of the manufacturing process, and overhead is applied to each product at the rate of 50% of direct labor cost. There was no finished goods inventory at the beginning of the year. A review of Tuff Soles Corporation’s inventory and cost records has disclosed the following data:

	
	
	 
	Costs 

	
	
	Units
	Materials
	Labor

	
	Work in process, January 1 (labor and overhead 60% complete)

	150,000
	$153,000
	$194,400

	
	Units started into production

	900,000
	
	

	
	Cost added during the year:
	
	
	

	
	Materials cost

	
	$1,233,000
	

	
	Labor cost

	
	
	$1,851,600

	
	Units completed during the year

	850,000
	
	



The company uses the weighted-average cost method.

Required:


1.
Determine the equivalent units and costs per equivalent unit for materials, labor, and overhead for the year.


2.
Determine the amount of cost that should be assigned to the ending work in process and finished goods inventories.


3.
Prepare the necessary correcting journal entry to adjust the work in process and finished goods inventories to the correct balances as of December 31.


4.
Determine the cost of goods sold for the year assuming there is no underapplied or overapplied overhead.

PROBLEM 4-11

Equivalent Units; Applying Costs—FIFO Method

(LO5, LO6, LO7)

CHECK FIGURE

(2) Conversion: $2.60 per unit; (3) Ending work in process: $20,800

Machine Parts, Ltd. makes metal components that go through two processes, Drilling and Welding. The following activity was recorded in the Drilling Department during January:

	
	Production data:
	

	
	Units in process, January 1; conversion 60% complete

	5,000

	
	Units started into production

	270,000

	
	Units completed and transferred to Welding 

	?

	
	Units in process, January 31; conversion 50% complete

	10,000

	
	
	

	
	Cost data:
	

	
	Work in process inventory, January 1:
	

	
	Materials cost

	$3,000

	
	Conversion cost

	$7,500

	
	Cost added during the month:
	

	
	Materials cost

	$210,600

	
	Conversion cost

	$694,200



All materials are added at the beginning of work in the Drilling Department. Conversion costs are added uniformly during processing. The company uses the FIFO cost method.

Required:


1.
Compute the equivalent units of production.


2.
Compute the costs per equivalent unit for the month.


3.
Determine the cost of ending work in process inventory and of the units transferred to the next department.


4.
Prepare a cost reconciliation between the costs determined in part (3) above and the cost of beginning inventory and costs added during the month.
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